•	Total Score for Performance				
-	nce & Execution (Factor x Score)	1		1.100	1.100
Technical Skating Skills (Factor x Score)		1		1.200	1.200
	pensation (6 x WPI)	6	5.00%		0.300
factor (level 1)		Factor	WPI		
Total Technical El	ements		Total judges sc	ore for elements	1.539
		-	0.000		0.000
Spin (1 foot uprig	ht +/ or 2 feet	1	0.333	1.7	0.566
Step sequence (st	traight line, basic F 3 turns, Fx rolls etc)	1.1	0.367	1.2	0.440
Pose (3 to 6 secor	nds)	1	0.333	1.6	0.533
Level 1		For Officia	l Use Only	For Officia	al Use Only
	Elements Permitted	IJS Base	Technical	Grade of Execution	Mark awarded
Sex:	Lady				
	Pre-Novice				
	Solihull Inclusive Skating Academy				
	England, UK				
Skater:	Chloe Kane	Notes on require	ed support:		
Competition:		Support required	Inte	ellectual Independ	dent
Solo Free Da		Level of Skater:	1	1	

Solo Free Da	ance	Level of Skater:		1	
	Inclusive Skating for Genes International and British Championships	Support		<u>.</u>	
Competition:		required	١	/isual Independer	nt
Skater:	Harriet-Evie Rooms	Notes on require	ed support:		
	England, UK				
	Braehead, Hull				
Age Category	Novice				
Sex:	Lady				
نے	Elements Permitted	IJS Base	Technical	Grade of Execution	Mark awarded
SKATING		For Official Use Only For Official		l Use Only	
Level 1					
Pose (3 to 6 secor	nds)	1	0.333	2.8	0.932
Step sequence (s	raight line, basic F 3 turns, Fx rolls etc)	1.1	0.367	2.9	1.064
Spin (1 foot uprig	ht +/ or 2 feet	1	0.333		0.000
Total Technical El	ements			ore for elements	1.996
factor (level 1)		Factor	WPI		
Impairment Compensation (6 x WPI)		6	20.00%		1.200
Technical Skating	Skills (Factor x Score)	1		3.200	3.200
Artistic performa	nce & Execution (Factor x Score)	1		3.300	3.300
		Total Scor	e for Perf	formance	9.70

Solo Free Da	ance	Level of Skater:		1	
	Inclusive Skating for Genes International and British Championships	Support			
Competition:		required	١	/isual Independer	it
Skater:	Vicki Smart	Notes on require	ed support:		
Age on 1st	England, UK, Uttoxeter				
January	Cat: Senior				
Age Category					
Sex:	Lady				
	Elements Permitted	IJS Base	Technical	Grade of Execution	Mark awarded
SKATING		For Official Use Only		For Official Use Only	
Level 1					
Pose (3 to 6 secor	nds)	1	0.333	0.7	0.233
Step sequence (s	raight line, basic F 3 turns, Fx rolls etc)	1.1	0.367	1.2	0.440
Spin (1 foot uprig	ht +/ or 2 feet	1	0.333	1.3	0.433
Total Technical El			Total induces	en fen elsen este	1.100
	ements	Fastar	VPI	ore for elements	1.106
factor (level 1)	nonsation (6 x W/PI)	Factor 6	20.00%	-	1.200
Impairment Compensation (6 x WPI) Technical Skating Skills (Factor x Score)		6 1	20.00%	1.600	1.600
•				1.500	1.500
Artistic performance & Execution (Factor x Score)					
		Fotal Score	e tor Perf	ormance	5.41

Solo Free Da	ance	Level of Skater:		1	
	Inclusive Skating for Genes International and British Championships	Support			
Competition:		required	Inte	llectual Independ	dent
Skater:	Jenny Lee	Notes on require	ed support:		
	England, UK				
	Bradford				
Age Category	Senior				
Sex:	Lady				
ic		IJS Base	Technical	Grade of Execution	Mark awarded
ŋ	Elements Permitted			LXecution	
SKATING		For Official Use Only For Offic		For Officia	l Use Only
Level 1					
Pose (3 to 6 secor	nds)	1	0.333	2.7	0.899
Step sequence (st	traight line, basic F 3 turns, Fx rolls etc)	1.1	0.367	3	1.101
Spin (1 foot uprig	ht +/ or 2 feet	1	0.333	3.2	1.066
Total Technical El	ements		Total judges sc	ore for elements	3.066
factor (level 1)		Factor	WPI		
	pensation (6 x WPI)	6	24.00%		1.440
	Skills (Factor x Score)	1		2.500	2.500
Artistic performa	nce & Execution (Factor x Score)	1		2.700	2.700
		Total Scor	e for Perf	ormance	9.71

Solo Free Da	Solo Free Dance			1	
	Inclusive Skating for Genes International and British Championships	Support			
Competition:		required		ellectual Independent	dent
Skater:	Callum Mills	Notes on require	ed support:		
		_			
Age Category	Senior				
Sex:	Gentleman				
INCLUSIVE	Elements Permitted	IJS Base	Technical	Grade of Execution	Mark awarded
SKATING		For Official Use Only For Official		l Use Only	
Level 1					
Pose (3 to 6 secor	nds)	1	0.333	1.8	0.599
Step sequence (s	traight line, basic F 3 turns, Fx rolls etc)	1.1	0.367	1.7	0.624
Spin (1 foot uprig	ht +/ or 2 feet	1	0.333	1.6	0.533
Total Technical El	ements		Total judges sc	ore for elements	1.756
factor (level 1)		Factor	WPI		
	pensation (6 x WPI)	6	31.00%		1.860
Technical Skating	Technical Skating Skills (Factor x Score)			1.600	1.600
Artistic performa	nce & Execution (Factor x Score)	1		1.700	1.700
		Fotal Scor	e for Perf	ormance	6.92

Solo Free Dance		Level of Skater:		2	
	Inclusive Skating for Genes International and British Championships	Support			
Competition:		required	Pł	nysical Independe	ent
Skater:	Sophie Ravenscroft	Notes on require	ed support:		
Age on 1st	England, UK				
January	Solihull Inclusive Skating Academy				
Age Category	Novice				
Sex:	Lady				
INCLUSIVE	Elements Permitted	IJS Base	Technical	Grade of Execution	Mark awarded
SKATING		For Officia	al Use Only	For Officia	l Use Only
Level 2					
Pose (3 to 6 seco	nds)	1.5	0.5	3.6	1.800
Step sequence (s	traight line, basic F 3 turns, Fx rolls etc)	1.5	0.5	3.4	1.700
One position spin	n (no change of foot)	1.5	0.5	3.3	1.650
Total Technical El	ements		Total judges sc	ore for elements	5.150
factor (level 2)		Factor	WPI		
Impairment Com	Impairment Compensation (9 x WPI)		17.00%		1.700
Technical Skating	Skills (Factor x Score)	1		2.700	2.700
Artistic performa	Artistic performance & Execution (Factor x Score)			2.900	2.900
	T	otal Scor	e for Perf	ormance	12.45

Solo Free Da	ance	Level of Skater:		2	
	Inclusive Skating for Genes International and British Championships	Support		•	
Competition:		required	Inte	llectual Indepen	dent
Skater:	Meg MacFarlane	Notes on require	ed support:		
Age on 1st					
January	Lammas				
Age Category	Pre-Novice				
Sex:	Lady				
INCLUSIVE	Elements Permitted	IJS Base	Technical	Grade of Execution	Mark awarded
SKATING		For Officia	Use Only	For Officia	al Use Only
Level 2					
Pose (3 to 6 secor	nds)	1.5	0.5	2.7	1.350
Step sequence (s	traight line, basic F 3 turns, Fx rolls etc)	1.5	0.5	2.4	1.200
One position spin	(no change of foot)	1.5	0.5	2.8	1.400
Total Technical El	ements		Total judges sc	ore for elements	3.950
factor (level 2)		Factor	WPI		
Impairment Com	Impairment Compensation (9 x WPI)		42.00%		4.200
Technical Skating	Skills (Factor x Score)	1		2.100	2.100
Artistic performa	Artistic performance & Execution (Factor x Score)			2.300	2.300
	T	otal Scor	e for Perf	ormance	12.55

Solo Free Dance		Level of Skater:		2	
	Inclusive Skating for Genes International and British Championships	Support			
Competition:	2019	required	Inte	ellectual Independ	dent
Skater:	Kirsten Gillespie	Notes on require	ed support:		
Age on 1st	Scotland, UK	1			
January	Braehead Inclusive Skating Club, Murrayfield	1			
Age Category	Master				
Sex:	Lady				
INCLUSIVE	Elements Permitted	IJS Base	Technical	Grade of Execution	Mark awarded
SKATING		For Officia	al Use Only	For Officia	l Use Only
Level 2					
Pose (3 to 6 secoi	nds)	1.5	0.5	4.2	2.100
Step sequence (s	traight line, basic F 3 turns, Fx rolls etc)	1.5	0.5	3.3	1.650
One position spin	n (no change of foot)	1.5	0.5	3.3	1.650
Total Technical El	ements		Total judges sc	ore for elements	5.400
factor (level 2)		Factor	WPI		
Impairment Com	pensation (9 x WPI)	10	5.00%		0.500
Technical Skating	Skills (Factor x Score)	1		2.900	2.900
Artistic performa	Artistic performance & Execution (Factor x Score)			3.200	3.200
	Т	Total Scor	e for Perf	ormance	12.00

Solo Free D	ance	Level of Skater:		2	
	Inclusive Skating for Genes International and British Championships	Support			
Competition:	2019	required	Inte	ellectual Independ	dent
Skater:	Cameron Sargent	Notes on require	ed support:		
Age on 1st	England, UK				
January	Solihull Inclusive Skating Academy				
Age Category	Junior				
Sex:	Gentleman				
INCLUSIVE	Elements Permitted	IJS Base	Technical	Grade of Execution	Mark awarded
SKATING		For Officia	l Use Only	For Officia	l Use Only
Level 2					
Pose (3 to 6 seco	nds)	1.5	0.5	2.7	1.350
Step sequence (s	traight line, basic F 3 turns, Fx rolls etc)	1.5	0.5	4.1	2.050
One position spin	(no change of foot)	1.5	0.5	3.7	1.850
Total Technical El	ements		Total judges sc	ore for elements	5.250
factor (level 2)		Factor	WPI		
Impairment Com	pensation (9 x WPI)	10	20.00%		2.000
Technical Skating	Skills (Factor x Score)	1		3.900	3.900
Artistic performa	Artistic performance & Execution (Factor x Score)			3.700	3.700
	Т	otal Scor	e for Perf	ormance	14.85

Solo Free D	ance	Level of Skater:		3	
	Inclusive Skating for Genes International and British Championships	Support			
Competition:	2019	required	Intellectual Independent		
Skater:	Stephanie Gott	Notes on require	ed support:		
Age on 1st	England and Wales, UK				
January	Deeside ISC				
Age Category	Senior				
Sex:	Lady				
INCLUSIVE	Elements Permitted	IJS Base	Technical	Grade of Execution	Mark awarded
SKATING		For Officia	l Use Only	For Officia	Use Only
Level 3					
Twizzles, 1 FI or 2	feet, c + cc, 1 + rotation, max 3 linking steps	3.1	1.033	1.9	1.963
Pose (3 to 6 seco	nds)	2	0.667	1.9	1.267
Step sequence (s	traight line, full ice surface, basic F + B 3 turns etc)	2.6	0.867	2.1	1.821
One position Spir	n (no change of foot on 1 +/or 2 feet)	2.6	0.867	1.8	1.561
Total Technical El	ements		Total judges sc	ore for elements	6.612
factor (level 3)		Factor	WPI		
Impairment Com	pensation (20 x WPI)	20	23.00%		4.600
Technical Skating	Skills (Factor x Score)	1.5		2.100	3.150
-	nce & Execution (Factor x Score)	1.5		2.000	3.000
		Total Scor	e for Perf	formance	17.36

Solo Free Da	ance	Level of Skater:		4	
	Inclusive Skating for Genes International and British Championships	Support			
Competition:	2019	required	Physical Independent		
Skater:	Jessica Jepps	Notes on require	ed support:		
Age on 1st	England, UK				
January					
Age Category	Senior				
Sex:	Lady				
INCLUSIVE	Elements Permitted	IJS Base	Technical	Grade of Execution	Mark awarded
SKATING		For Officia	l Use Only	For Officia	al Use Only
Level 4					
Twizzles, 1 Fl or 2	feet, c + cc, 1 + rotation, max 3 linking steps	4.6	1.533	2.2	3.373
Pose (3 to 6 secor	ds)	3	1	2.3	2.300
Step sequence (st	raight line, full ice surface, double 3 turns, twizzles + more adv. Turns)	4.1	1.367	2.5	3.418
One position Spin	(no change of foot)	3.6	1.2	2.4	2.880
					1
Total Technical El	ements		, .	ore for elements	11.971
factor (level 4)		Factor	WPI	4	
Impairment Com	pensation (30 x WPI)	25	19.00%		4.750
Technical Skating	Skills (Factor x Score)	2		2.200	4.400
Artistic performa	nce & Execution (Factor x Score)	2		1.900	3.800
	T	otal Scor	e for Perf	ormance	24.92

Solo Free Da	ance	Level of Skater:		4		
	Inclusive Skating for Genes International and British Championships	Support				
Competition:		required	Visual Independent			
Skater:	Isobel-Ami Rooms	Notes on require	ed support:			
Age on 1st	England, UK					
January						
, ige caregoi j	Senior					
Sex:	Lady					
ic		IJS Base	Technical	Grade of	Mark awarded	
	Elements Permitted			Execution		
SKATING		For Officia	al Use Only	For Officia	For Official Use Only	
Level 4						
Twizzles, 1 Fl or 2	feet, c + cc, 1 + rotation, max 3 linking steps	4.6	1.533	3.3	5.059	
Pose (3 to 6 secor	nds)	3	1	3.1	3.100	
Step sequence (st	raight line, full ice surface, double 3 turns, twizzles+more adv. Turns)	4.1	1.367	3.3	4.511	
One position Spin	(no change of foot)	3.6	1.2	3.4	4.080	
Total Technical El	ements		, .	ore for elements	16.750	
factor (level 4)		Factor	WPI			
Impairment Com	pensation (30 x WPI)	25	20.00%		5.000	
Technical Skating	Skills (Factor x Score)	2		4.000	8.000	
Artistic performa	nce & Execution (Factor x Score)	2		4.300	8.600	
	Total Score for Performance					

Solo Free Dance		Level of Skater:		5	
	Inclusive Skating for Genes International and British Championships	Support			
Competition:	2019	required		VF	
Skater:	Juliana Sweeney-Baird	Notes on require	ed support:		
Age on 1st					
January	Cat: Junior				
Age Category	British Junior				
Sex:	Lady				
INCLUSIVE	Elements Permitted	IJS Base	Technical	Grade of Execution	Mark awarded
SKATING		For Official Use Only		For Official Use Only	
Level 3					
Twizzles, 2 rotations on any edge, c + cc, max 3 linking steps, additional features permitted		5.6	1.867	3.4	6.348
Pose 1 (3 to 6 seconds)		3	1	4.1	4.100
Pose 2 (3 to 6 seconds)		3	1	3.5	3.500
Step sequence (straight line, full ice surface, brackets twizzles more adv. Turn)		5.6	1.867	4.2	7.841
One position Spin (no change of foot)		4.6	1.533	3.8	5.825
Total Technical El	ements		Total judges so	core for elements	27.614
factor (level 3)		Factor	WPI		27.014
Impairment Compensation (20 x WPI)		40	53.50%		21.400
Tochnical Skating	Skills (Eastor x Score)	2.5		5.100	12.750
Technical Skating Skills (Factor x Score) Artistic performance & Execution (Factor x Score)		2.5		5.400	12.750
Total Score for Performance					